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TEE xy,z u v w

7,10,10 (1,5) | 4.057 x107% | -3.803 x107? | 2.445 x 1073
8,10,10 (1,5) | 3.994 x107° | -3.804 x107? | 2.499 x10~°
9,10,10 (1,5) | 3.947 x107% | -3.805 %1073 | 2.541 x10~?
10,10,10 (1,5) | 3.910 x107% | -3.805 x1073 | 2.573 x10~3
7,10,10 (2,5) | 4.156 x107% | -3.802 x1072 | 2.369 x10~?
8,10,10 (2,5) | 4.067 x107% | -3.803 x1072 | 2.445 x10~3
9,10,10 (2,5) | 4.002 x107° | -3.804 x1072 | 2.499 x10~3
10,10,10 (2,5) | 3.954 x107° | -3.805 x1073 | 2.541 x10~*
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HRA (B DA OIS T (H Him)

£ Ox oy o
1 -1.52 %107 -1.85 x107 -2.06 x107
3 -1.55 %107 -1.86 %107 -2.07 x107
5 -1.55 %107 -1.86 x107 -2.07 %107
R Tay Trz Tyz /,/f,jl
1 | -1.03 x10=% | -7.94 x10=1 | -2.34 x10—? /%
3 | -5.79 x107% | -7.91 x10~1 | -2.56 x10~* Hf
5 | -1.05 x10~2 | -7.91 x10~! | -3.48 x10~°

LR DFREE

FEFE | - - 8EHEFMICIE 2.1 ~ 3.5 x107 Pa
o WRHEEA FMICIE 2.3 ~ 4.2 x10° Pa
Bl 2.4 ~ 3.6 x10° Pa
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